Fr505—% TLrr—% ZFIE SL[JZK [5r=VT] W | ®& | fix | HIE XE
Fo_c ( D—F 15 *x | - -k | BR (V= B -
RIES #F—TI7—ROIFI~S1L
N EEA b =52 UGNT—J 1Y R0 A 57— YLD~ | 0 [1d10]| &usesE | - | E,% [ B8 [1100]
SIS — MR : IR +SOHPTEE
AFvar Fh KR JVEYRLAR [ 2] 2 [ XTv—| | | | |
1 R & Bi% MRERE 30 o PR Cli-Lv
EROBEA (1] 1 [ XYv—] BR ] B2l \
HES BRENLF =8 EnitE B RIAVN v TV 21ORE
. N TH SV — N RM—
RAR JToR AR ME . WRE EME L R )Ty e e xjvlﬁlil""r7\+Lv‘ﬂE\ éeaaéa‘;;m : ‘
miE | 4 0 9 4 | |omE s 55ZenJY [ 3] 4 [XTv—]| BR | Bk | 5Hr [100%1]
4= 0 0 1 1 (FEERB) 7 N "
& 2 1 2 5 RIS E) 12 R I&(%j]+[Lv‘5]
> = 5 S > lenmm 24 FROBE [ 1] 4 | A—F | BR | Eh | A5 B30
R WRDEZ(FDT X —T-[Lv+2]D
P EE B oa Ed \ \ \ \ \ \
BEE [SL|[MEE| H#E |SL (EE| BB [SL[IEE| BEE [SL|EE| |p=:
EL % RC | 4 s ] | | | | | |
B ] Bs |2 =z |1 e
8 S A 2 i3 : UGN | 3 [ ] \ \ \ \ \ \
JEH =T RNEH 15 : R
o =i A 5% : ] \ \ \ \ | |
N =l RO - & MR
e il A3 52 : [ ] \ \ \ \ \ \
RE-JUK | feN | #FE | GIE |5 HE XE R — ‘ ‘ ‘ ‘ ‘ ‘
ABC. 2887%18 | RC | 5r+4 3 (~59%] Clg-2. WE512+18. EFEHE| |
ABC, {8887%38 | RC | br+4 3 (60~79%] CfE-2. HBHAA+1, Zomp [ — ‘ ‘ ‘ ‘ ‘ ‘
ABC., BRE7%1 | RC | 7r+4 3 (80~99%] CfE-2. WES 12+, RREH | -
ABCD. f28811% RC | 8r+d 18 [100%~] CEE-3. BE5(2+20. EORE [ — ‘ ‘ ‘ ‘ ‘ ‘
BE flits | BF | @ | T XE hR
75 —H—BHO-C/ &5 6 AE A
— SstgER:| 0 [Astm@:| O Egngo%%g]iggfg %iﬁiﬁgggz;gg%gé%éggﬁfgiil L R +HEROBA-HEA BT TR
ZiE () (BER100%BRTHS) JVEY LT M+EROBAHEEMHR+ TSIV UV THRE
Or=x
SR R (pos) | i (neg) 5 7| mn
P N
P N
P N
HHH#Z P N
P N
P N
P N
BAEP: 6  [BOHEP:



http://www.tcpdf.org

